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Boeing and the B2 Bomber

Boeing finds that the cost to build » B2 bombers can be modeled
by C(n)=150+n1+0.09#2 (in millions of dollars). The revenue

is modeled by R(n)=12.52-0.01n?. Furthermore, Boeing plans
to build at most 75 B2’s.

a.) What is the domain of C|(n)?

b.) Find the break-even point(s).

¢.) Find the profit function P(n).
d.) Interpret P(n).

e.) What should Boeing do to maximize its B2 manufacturing
profit?
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Revenue = (selling price) - x where x is the number of units

Objective: sold

e Profit, Revenue,

and Cost with Costs = (variable cost) - x + fixed cost where x is the
Quadratics number of units produced

PROFIT = (Revenue) ~ (Cost)
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MAXEMEZE,__ use VERTEX x = - EbE is the units, then evaluate the function to find max $$$.

BREAKEVEN: R=C -
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R-C=0

then use the quadratic formula x =

I. In a monopoly market, the demand for a productis p = 1600 ~ x where x is the

number of units sold.
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a. Find the Revenue function / _ ‘ | "
Zixy= p-x = (boo ~x). K = Jbeoo x - %"

b. Find the maximum Revenue and the number of units sold that will maximize Revenue.
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¢. Find the price that will maximize revenue.
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Revenue = (selling price) - x where x is the number of units

Objective: sold
e Profit, Revenue,
and Cost with Costs = (variable cost) - x + fixed cost where xis the

Quadratics number of units produced
PROFIT = (Revenue) - (Cost)
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MAXIMIZE, use VERTEX x = - -2% is the units, then evaluate the function to find max $%$. “
BREAKEVEN: R=C

R-C=0

then use the quadratic formula x =

[. In a monopoly market, the demand for a productis p = 1600 - x where x is the
number of units sold.

a. Find the Revenue function

b. Find the maximum Revenue and the number of units sold that will maximize Revenue.

¢. Find the price that will maximize revenue.



